m——————

Let Us Revise

1. There are 2 ponds. Each pond has 4 ducks. How many ducks are there
in the two ponds ?

2 times 4 equals S

Thereare "1 x 2. = 5 ducks.




2. A pizza has

3. Multiplication of 2 by 6 using a number line-
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4. Multiply the following using a number line.
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5. Recollect the tables and match the followin

(a) 5><3\\ gm0 :

(b) 2x5 8 b

(© 3x4 " s Srol

() 4x2 B \)\ 58 3x5=]7

() 3x6 \ b
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) 3x2 S e 4x5=72p
(i) 5x4~ 312 szzq

() 3x3° N 7/ 223:25\

6. Count in threes and fill in the boxes.
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Count in fives and fill in the circles.
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